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graph/inthetableD 0D O OO OO0 OO0 OO0OOO OO 540
OO000000000 asisshown by the graph,there has been a
rapid increase in the population of the country in the past five years.
2.1t can be seen from the table that 0 [ 0 0O O O O shown graph
concluded figures estimated statisticsa. J O O O O OO0 O O
OO0O00o19ess0019bi0d0oddodoodnn from
the statistics given in the table it can be seen that the average personal
iIncome of the chinese people increased (grew [ rose) rapidly from
1985t01990.b. U0 D OO U0OOOODOOMMODOOO
OO0000000000 itcan be concluded from the graph that
there has been a great decline in birth rates in china in the past five
years. 3. 1 amountto [ J 0 U 0O O 0O add up to come to sum up
tod OO0 02000 O O all the expenses (costs) amount to (=
add up t0) $200.4. 0 increasefromd toO O OO OO O
decrease rise fall Odropa. 0 OO OO 0O OO O 0O O O O 00 198601 [1 5000
[ 000 0019900 10 2100000 I the number of colour tv sets
produced by the factory increased (rose , grew , climbed) from 5000
in 1986 t0 21000in 1990.b.0 O O 0O U O 0O O 0O 300 O the
number of paticipants grew up to 300000 persons = increased ,
reaching 300000 persons).c. 1 O 0 OO0 OO0 OO0 OOOOO 700
[J O the number of teaching staff members in this school has
decreased to 700 persons. 5.0 bel] three timesas [J [0 I as [ O [



total output 00 OO OJ [0 O the annual output of LI I 1701 rise by
17per cent steel LI OO O the daily output UJ OO OO O O O resultina
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[1 O the grain production (= output)in our area now is three times
as great as that of 1970. 6.comparedwithJ , 00 0O O 0O 0O O O
01B000000000000000 O the factory has an
output of 9 million cigarettes daily. compared with that of last
year,the output of 13 main products (= items) 100Test [ UJ LI [0 [J
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